A ) N, N
= m i | vy y AR

=175 T bt 7T

A NI

2023412 H20H

o
=

b

FIErGRKG BT




FAGERTHR Gt Z




W )=+ Din(x+1), 25T

T x>0, & fx)>ax &AL, SREZEL
a FTHUE TSR .

K SERGId-  Roit o5



LRI RR Y f (x)—
a >O
a

1+ x
—e
— X

xe(O,l)

—dadXx

y=f(x).

(I HRHMER

f(x)>1

SRS B 2




KSRGS o



SIN X

B L (x) =
~ /() 2+CosSXx

f(x)..

D) G SRR A

SR a2 A ot



s 2 n

W f (x) = lln_x_ Inx+In(x+1)
+ X

J (X

(OJETAFAES L

a X f(x)Ua

SERRT HIASER

(0,+0) a

I

£h

2HEATAE, R .
19 HAEL i s AN A7 A i

AR




RG22



ERIBRE £(x) =x(e” —=1) —ax’

J(x) x=-l... f (%)

IR

x>0 f(x)=>0 a

SRS [ R




e

WAL f(x)=1—¢""

X
x>-—1 f(x)z——
x+1
X
x>0 f(x)<— a
. ax +1

R k2 R o5



&Wﬁ';

1
E%ﬂ@i&f(x)=anx+é y=f(x)
x+1 x
(L)) x+2y—-3=0
a b
x>0 x#1 f@0>lnx+kj
x—1. x
k

KROS5



RS fad T e 75




LRV TR LA 3 d




e &

2
1.é”=1+£+x +x + [ +x + i e™,
1 2! 3! n! (n+1)!
(0<f<])
xt X x"
. . . . n—l_
In(1+x)=x 2!+3! 1 +(-1 n!+R””
xn—l—l 1

R — _1 n n+l1
= )(n+1)!(1+6?x)

RO [ I B S



G IERG [ 2R N5



FAEnGERZ U ¥ F




1. BRI 5 Lk

?iw

TR I 5 A R P B R JEAL,
UEF VRRHOR O, RRAAEE I RN, o KA
VENFER R ER], BEF 5 A 22 A 2 2k
W ERTERE, XUEEE BN G4k st > 1)
At. NI, AR 5 R EA S HIR A YL
B, mEAF N a1

Iml\

IR



2. 73RV AR e S Uk

VF 2248 T 175 25 4 1 1 2l o410 i 3 20 7 e 1l
W, R S EBUE VS FE S — R E A BB
Y I 2K A E@mtmkﬁ@,%%ﬁﬁ%ﬁ
V5, o A IR P ORI R 5 — 3 AT
& BN 43 B S50 7 1A BN e ik
= B e R — & —— 25
ARG S UE B 7.

PSS

O
=
L

s

=

LIUL




i TACHED O SO THEAS

SRS BT L 45 2K A S 1 7
VR, (HiXFp v EA T 2R, T2k,
g 2 4 sk DR A T B PR 490 58
17 R B D 540 0 4 Rt L T

Y B SRIIEEY
I8 §Y ENEPUINES

RS a2 (1 I o 752



LR SR A %




-

WIEIEN: WA f(x)  g(x)

Im f(x)=lmg(x)=0

U@ () g® gm0

imf o 4 o0
xX—a g ()C) -
imZ X i d ) _

xa g(x X>a g 4 (x)

ARG DL R s



P ERFCCAASOE R TS, ATRERREN —LAE. METHRIAREL, 1§
i: https://d.book118.com/276015110205010230



https://d.book118.com/276015110205010230

